Polygon (HKMO Classified Questions by topics)
1982 FI5.1
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Let the sum of the marked angles be a°.
Find the value of a.

1983 FI1.2
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The sum of the interior angles of a regular b-sided polygon is 1800° .
Find the value of b.
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The sides of an N-sided regular polygon are produced
to form a “star”. If the angle at each point of that
“star” is 108°, find the value of N. (For example, the
“star” of a six-sided polygon is given as shown in the
diagram.) 6-sided regular polygon
1984 FSI1.2 1989 FSI.2
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The sum of the interior angles of a regular b-sided polygon is 900° .

Find the value of b.

1984 FI5.1

4ol > fa e o

In the figure, find the value of a.
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Each interior angle of a 10-sided regular polygon is x°. Find the value of x .
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1985 FG9.4
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If the sum of the interior angles of a 20-sided convex polygon is x°,

find the value of x.

1986 FSI.1
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In the given figure, the sum of the four marked angles is a°.

Find the value of a.

1986 FSI.2
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The sum of the interior angles of a regular b-sided polygon is 1080°.

Find the value of Db.

1987 FG6.3 1997 Fl4.1
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Each interior angle of an N-sided regular polygon is 140° . Find the value of N .
1988 FG10.1
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Each interior angle of an n-sided regular polygon is 160°. Find the value of n.
1989 HI3 1997 HG6
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Find the number of sides of a regular polygon if an interior angle exceeds an
exterior angle by 150° .

1989 HG2
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An interior angle of an n-sided convex polygon is x° while the sum of other
interior angles is 800°. Find the value of n.

1989 FI5.3
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Each interior angle of an n-sided regular polygon is 150°. Find the value of n.
1990 FI2.4
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Each interior angle of a regular polygon of 12 sides is m°. Find the value of m .
1990 FG10.3-4
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One interior angle of a convex n-sided polygon is x°. The sum of the remaining
interior angles is 2180°. Find the valuesof x and n.
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RO R EFERY N 28 U

Foa i o

In the figure, if the sum of the interior angles is
a°, find the value of a.

1992 HI13
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Figure 4 shows a figure obtained by producing the sides
of a 13-sided polygon.

If the sum of the marked angles is n°,

find the value of n .

1992 HG3
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An interior angle of an n-sided convex polygon is x°.

The sum of the other interior angles is 2468°. Find the value of x .
1992 FI1.1
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If the sum of the interior angles of an n-sided polygon is 1440°,
find the value of n .
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In the figure, let ZA+ /B + /C+ /D + £E ©
+ /F+ ZG = x°, find the value of x.

D
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In a convex polygon, other than the interior angle A, the sum of all the remaining

interior angles is equal to 2460°. If ~A =S°, find the value of S .
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2006 FI11.3
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An interior angle of a regular C-sided polygon is 144°, find the value of C .
2008 FG2.1
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In the figure, BD, FC, GC and FE are
straight lines.
Ifz=a+b+c+d+e+f+g,
find the value of z .
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In Figure 1, AD, DG, GB, BC, CE, EF and FA are
line segments. If Z/FAD + ZGBC + ZBCE + ZADG
+ /CEF + ZAFE + ZDGB = r°, find the value of r.
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In a convex polygon with n sides, one interior angle is selected.

If the sum of the remaining n — 1 interior angle is 2013°, find the value of n .
2015 HI14
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LA+ B+ /ZC+ 4D+ LE+ LF= ?
As shown in the figure, ZEGB = 64°,

A+ /B+/C+ D+ ZLZE+ LF =7
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Answers
1982 FI5.1 1983 FI1.2 | 1983 FG10.2 |1984FsI.2 1989Fsl.2| 1984 FI5.1
360 12 10 7 80
1984 FI5.4 1985 FG9.4 1986 FSI.1 1986 FSI.2 | 1987FG6.3 1997FI4.1
144 3240 1080 8 9
1988 FG10.1 [1989HI3 1997HG6| 1989 HG2 1989 FI5.3 1990 FI2.4
18 24 7 12 150
1990 FG10.3-4| 1991 FI5.1 1992 HI13 1992 HG3 1992 FIl1.1
x=160,n=15 1080 1620 52 10
2000 HI5 2002 FI3.4 2006 FI1.3 2008 FG2.1 | 2012 FG3.2
540 60 10 540 540
2013 HI6 2015 H14
14 232°
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